	A	В	С	D	E
1	Date	Employee	Location	Work Performed	Employee Type
				Trouble shoot 12volt from HH to control panel, replace 5 amp	
2	25-Jan-08	SONET	CIMS Boston	inline fuse, confirm continuity Essex and Edinboro	
3	03-Jan-18	NISBET; ERIC W.	CIMS - CHELSEA	Upgrade software at Chelsea PD to Version 8	Software Technician
				No network connectivity Bragdon - power cycled to restore	
4	04-Jan-18	SAVAGE;MARK	CIMS - BOSTON	power	Technician Programmer
5	05-Jan-18	SAVAGE;MARK	CIMS - BOSTON	Reset sector on Jeremiah Burke	Technician Programmer
6	05-Jan-18	PAPPAS; SEAN M	CIMS - REVERE	Camera was down at Shirley St. Went and re terminated the connections at the camera. The 24 volt molex connector and the cat 5 connectors were then inserted back in the camera and showing video back on the system.	Technician Programmer
7	05-Jan-18	PAPPAS; SEAN M	CIMS - CHELSEA	The camera at 25 highland wasn't displaying video. Tried to change switch ports multiple ports were not working. The problem was later corrected by Greg.	Technician Programmer
8	05-Jan-18	WASHBURN; GREGORY R	CIMS - EVERETT	Everett Housing to E.P.D backhaul was down which was a Mikrotik. Radio at housing had not arp, tried different power pigtails and dc. tried factory defaulting radio. all to which no luck had no spares of this style radio. -Had to replace both	Technician Programmer
9	05-Jan-18	PAPPAS; SEAN M	CIMS - SOMERVILLE	Camera at 25 Highland not displaying video, switched ports	Technician Programmer
10	06-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	Magnolia & Kineo was down due to the storm. Was not able to access the can due to snow banks and cars. It was revisited by Jim Rex and corrected at a later date	Technician Programmer
11	06-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Pier 5- Gained access with security after trbl shooting found negear switch had 3 bad ports on it 5,7,8. 1-4 are POE only. radio was up. Access here was tough and had no spare POE switch, I had Sean leave where he was at and bring me a new P	Technician Programmer
				Comfort Inn camera down, determined camera needed	
12	06-Jan-18	PAPPAS; SEAN M	CIMS - REVERE	replacement	Technician Programmer
13	06-Jan-18	NISBET; ERIC W.	CIMS - REVERE	Restoring cameras and network following storm	Software Technician
14	08-Jan-18		CIMS Quincy	Hancock St, Troubleshoot 120v reterminate conductors	
15	08-Jan-18	SONET	CIMS Everett Housing	Troubleshoot 120v Ice and water damage in junction box	
16	08-Jan-18	REX II; JAMES D	CIMS - BOSTON	-AM CIMS health check/ process x3 RMAs from last week weather related issues -594 Columbia down, onsite found emergency lighting on, no power in building due to pipe burst, talked to building tenant and power will be restored asap	Technician Programmer
17	08-Jan-18	REX II; JAMES D	CIMS - BOSTON	-AM CIMS health check/ process x3 RMAs from last week weather related issues -594 Columbia down, onsite found emergency lighting on, no power in building due to pipe burst, talked to building tenant and power will be restored asap	Technician Programmer

	F	G	Н	ı	J
1	Hours	Pay_ID	Rate	Total	Special Event
2	15 8	REG	\$102.00	\$1,530.00	
3	8	REG	\$125.00	\$1,000.00	
4	2	REG	\$109.00	\$218.00	
5	8	REG	\$109.00	\$872.00	
Ť				·	
	4	DEC	*400.00	+40/ 00	
6	4	REG	\$109.00	\$436.00	
7	1.5	ОТ	\$125.00	\$187.50	
	8	REG	\$109.00	\$872.00	
<u>8</u> 9	4	REG	\$109.00	\$436.00	
9		REG	\$107.00	ψ - 30.00	
10	8.5	OT	\$125.00	\$1,062.50	
11	9	ОТ	\$125.00	\$1,125.00	
	-		+	, -, s	
12	1	ОТ	\$125.00	\$125.00	
13	3	OT	\$145.00	\$435.00	
14	4.5	REG	\$102.00	\$459.00	
15	5.5	REG	\$102.00	\$561.00	
16	4	REG	\$109.00	\$436.00	
1-	1	ОТ	¢125.00	¢125.00	
17	1	UI	\$125.00	\$125.00	

	Α	В	С	D	E
18	08-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Mass ave & Columbus Found dead cam would not power up. Pulled unit	Technician Programmer
19	08-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Mass ave & Columbus Found dead cam would not power up. Pulled unit	Technician Programmer
20	08-Jan-18	REX II; JAMES D	CIMS - BOSTON	-Onsite at Bonet Switch with BPD found all devices on our equipment side cat5 to be up -Brett from Bonet suggested we try another SFP and install a dumb switch in between SFP bonet connection and our equipment -Went to Boston city hall, picked up SFP from Brett and installed with switch and services restored	Technician Programmer
21	08-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	-Onsite at Bonet Switch with BPD Paul found all devices on our equipment side cat5 to be up -Brett from Bonet suggested we try another SFP and install a dumb switch in between SFP bonet connection and our equipment -Went to Boston city hall , picked up SFP from Brett and installed with switch and services restored	Technician Programmer
22	09-Jan-18	REX II; JAMES D	CIMS - BOSTON	-Mass Columbus replace ptz / troubleshoot power issue with old cam -verify no power at landsdown St -Magnolia/kineo reset ptz at head /verify up on system	Technician Programmer
23	09-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Mass/Columbus put new RMA PTZ Cam in changed IP to 10.0.65.142 was .141 Dead cam S# SE15801091 mac- 00-1b-d8-80-7f-61 Jim has RMA set up.	Technician Programmer
24	09-Jan-18	REX II; JAMES D	CIMS - REVERE	Comfort inn east/ troubleshoot issue with new ptz(refurbished unit from FLIR w original ribbon cable issue, escalated to FLIR via Mike Driscoll) -verified/reterminated all connections. Only thing that brought ptz back alive was reseating molex 24vac connector -Oak island Park reseat ribbon cable	Technician Programmer
25	09-Jan-18	REX II; JAMES D	CIMS - CHELSEA	-Marlboro/willow - reset ptz from head verify up on system -Could not get to Margolis Pharmacy due to snow/traffic cop, will hit early am tomorrow	Technician Programmer
26	09-Jan-18	REX II; JAMES D	CIMS - EVERETT	-Onsite across from bosCoach Air Force rd/bike path- radio link x2cams down, power cycle radio link back up rssi-good. radio only connects to 10mbs-full still might be a switch/radio issue their- verify cams up on system	Technician Programmer

	F	G	Н	I	J
	4	OT	¢425.00	#40F.00	
18	1	ОТ	\$125.00	\$125.00	
19	4	REG	\$109.00	\$436.00	
20	4	REG	\$109.00	\$436.00	
20	4	REG	\$107.00	\$430.00	
21	4	REG	\$109.00	\$436.00	
22	3	REG	\$109.00	\$327.00	
23	2	REG	\$109.00	\$218.00	
24	1.5	ОТ	\$125.00	\$187.50	
	1.0	<u> </u>	ψ123.00	Ψ107.00	
	1.5	REG	¢100.00	¢162.50	
25	1.3	REG	\$109.00	\$163.50	
	1.5	DEC	¢100.00	#140 FO	
26	1.5	REG	\$109.00	\$163.50	

	Α	В	С	D	Е
27	09-Jan-18	REX II; JAMES D	CIMS - BOSTON	-Trouble shoot Hereford/Boylston-Boylston/Dalton,check all cables and connections found intermittent connection to Bonet at FD	Technician Programmer
LI			S. 10 2001.011	-Trouble shoot Hereford/Boylston-Boylston/Dalton,check all cables and connections.	
28	09-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	- found intermittent connection to Bonet at FD	Technician Programmer
29	10-Jan-18	REX II; JAMES D	CIMS - BOSTON	trouble shoot wash/mellville ptz-reset ribbon cable -verify up on system	Technician Programmer
30	10-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Washington & Melville - Cam has randomly disassociated from server but always shows video. Radio path looks good. on-site reseat ribbon cable to see if this fixes this issue.	Technician Programmer
31	10-Jan-18	REX II; JAMES D	CIMS - CHELSEA	-Reset Margolis pharmacy ptz	Technician Programmer
32	10-Jan-18	REX II; JAMES D	CIMS - BOSTON	onsite with BPD&BFD found work being performed in the attic, workers where using our power feed(extension cord) for our switch that connects Hereford/Boylston to Bonet switch down stairsthis explains the random up and down state that was occurring	Technician Programmer
33	10-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	onsite with BPD&BFD found work being performed in the attic, workers where using our power feed(extension cord) for our switch that connects Hereford/Boylston to Bonet switch down stairsthis explains the random up and down state that was occurring	Technician Programmer
34	11-Jan-18	REX II; JAMES D	CIMS - BOSTON	-cims check am procsscolumbia/Ceylon ptz that was removed case 79810 -reinstall temp ptz at col/cylon(waiting for advanced replacements)	Technician Programmer
35	11-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Columbia -Ceylon 1 PTZ with a non RMA replacement, It was a camera brought back from field that suspect. Prior factory defaulted, Firmware upgrade and bench tested 2days. Put in with Same IP in Field deleted Old camera out of system located	Technician Programmer
36	11-Jan-18	WASHBURN; GREGORY R	CIMS - EVERETT	Parlin_Bike Path Ubnt link at STA side of link GUI showed 10mbps full on lan side of radio. New Cat5 ends were made / Same issue. Replaced 10/100 dumb 5port netgear switch. Issue resolved Video relanded and recording.	

	F	G	Н	ı	J
					Ü
07	2	REG	\$109.00	\$218.00	
27	2	REG	\$107.00	\$210.00	
				_	
28	2	REG	\$109.00	\$218.00	
29	2	REG	\$109.00	\$218.00	
30	1	REG	\$109.00	\$109.00	
	0.5	0.7	+405.00	+/0.50	
31	0.5	OT	\$125.00	\$62.50	
32	3	REG	\$109.00	\$327.00	
33	3	REG	\$109.00	\$327.00	
34	4.5	REG	\$109.00	\$490.50	
25	4.5	REG	\$109.00	\$490.50	
35	7.3	REG	φ107.00	φ+70.30	
26	1.5	ОТ	\$125.00	\$187.50	
36	1.5	ΟI	⊅1∠J.UU	\$107.5U	

	Α	В	С	D	Е
37	11-Jan-18	REX II; JAMES D	CIMS - SOMERVILLE	-onsite could not access cam through router, power cycled ptz still nothing -was able to access directly through lan cable -change switch ports from B9 to B1 and cam back up operational, verified on system, will notify psnet -noticed high school	Technician Programmer
38	11-Jan-18	WASHBURN; GREGORY R	CIMS - SOMERVILLE	25 Highland ave. Roof PTZ down. Found power at camera good camera was pingable when Lan cable was plugged local on laptop but not through router that was on port A9, Moved to B9 on router same issue. PTP that shot over to La Quinta hotel was	Technician Programmer
39	12-Jan-18	REX II; JAMES D	CIMS - BOSTON	-Install advanced replacement RMA PTZ's @ dudly/e.cottage, e.cottage/Clifton, dudly/Dearborn-reland on server	Technician Programmer
	40.1.40		SILVE POSTOL	-Install advanced replacement RMA PTZ's @ dudly/e.cottage, S# SE14601626 MAC-001bd8802500 e.cottage/Clifton, S# SE15C00207 MAC-001bd880A9EA dudly/Dearborn- S# SE14900101 MAC-0001bd88026b0	
40	12-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	relanded all on server RMA Returns and Pick up New, Drove to Norwood Dropped off 5 RMA's	Technician Programmer
41	12-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Picked up 6 in return.	Technician Programmer
42	12-Jan-18	PAPPAS; SEAN M	CIMS - BROOKLINE	Ran a so cord to get power to the first can that had the PTZ mounted on it. Powered it up with the 24v transformer. The camera is view able back on the system. Green Street	Technician Programmer
43	12-Jan-18	REX II; JAMES D	CIMS - BROOKLINE	-onsite ran sj cord between poles to be able to remove cam power injector and put on 24vac transformer -Also found bad Ethernet port on radio/replace radio- verify cam up on system Green Street Met up at tail end of trbl of rework site after Norwood RMA	Technician Programmer
44	12-Jan-18	WASHBURN; GREGORY R	CIMS - BROOKLINE	visit swap. Configured new Nano UBNT that was dead on Lan port. link back up Peets Coffee PTZ Cam landed on serverThe above notes where for 43728 - 129 fisher Ave modem found dead ptz-had no spare	Technician Programmer
45	12-Jan-18	REX II; JAMES D	CIMS - BROOKLINE	-Got spares from Greg when I was at Pete Coffee - Replace PTZ verify upon system	Technician Programmer
46	12-Jan-18	SAVAGE;MARK	CIMS - BOSTON	Meeting with BPD on cameras down from weather	Technician Programmer
47	13-Jan-18	REX II; JAMES D	CIMS - BOSTON	-remove triple head from Columbus Park, move to Tremont/Avery install x2 radios	Technician Programmer

	F	G	Н	I	J
37	3.5	REG	\$109.00	\$381.50	
38	3.5	REG	\$109.00	\$381.50	
39	2	REG	\$109.00	\$218.00	
40	6	REG	\$109.00	\$654.00	
41	2	ОТ	\$125.00	\$250.00	
42	4.5	REG	\$109.00	\$490.50	
43	3	REG	\$109.00	\$327.00	
44	2	REG	\$109.00	\$218.00	
ΛE	3	REG	\$109.00	\$327.00	
45					
46	3	REG	\$109.00	\$327.00	
47	4	ОТ	\$125.00	\$500.00	

	Α	В	С	D	Е
	,,		•		-
				The power went out on 1/12/18 at the PD. I went there on	
				1/13/18 to get the workstations back up and showing video on	
48	13-Jan-18	PAPPAS; SEAN M	CIMS - REVERE	they're monitors. Everything's back up and running properly.	Technician Programmer
				Went to the site camera was going in and out. The power	
				wasn't feeding 24 volts to the camera. The camera was	
				changed out to a fixed camera. Was given a new IP address	
49	15-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	and landed back on the server. Blue Hill Ave and Warren	Technician Programmer
				Went to the site camera was going in and out. The power	
				wasn't feeding 24 volts to the camera. The camera was	
				changed out to a fixed camera. Was given a new IP address	
50	15-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	and landed back on the server. Blue Hill Ave and Warren	Technician Programmer
				L	
				The modem had a bad 12 volt power cable, and the 2 antennas	
				had bad connections. The modem was removed, getting the	
51	15-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	parts and putting it back together. Geneva and Topliff	Technician Programmer
				Went to Morton & Fuller St needed to reset modem. Then this	
				site was moved to Woodgate and Standard St. Back on the	
52		PAPPAS; SEAN M	CIMS - BOSTON	system as that.	Technician Programmer
53		PAPPAS; SEAN M		Blue Hill, Warren ave camera swap out Morton and Fuller needed modem reset	Technician Programmer
54	10-1411-10	PAPPAS; SEAN M	CIMS - BOSTON	Morton and Fuller needed modeln reset	Technician Programmer
				This site was moved to Erie & Ellington St. Back up on the	
55	16-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	server and recording video.	Technician Programmer
56	17-Jan-18		CIMS Boston	D4 Naval Blood Research Ctr, troubleshoot 120 V	recililear i rogrammer
30	17 3411 10	SONET	envis Boston	Troubleshoot 120v, furnish and install new wiring in conduit	
57	17-Jan-18	SONET	CIMS Quincy	due to corrosion Sea St, Charlestown, Medford	
58	17-Jan-18		CIMS Boston	Assist with Storm Damage	
-				onsite 1-17-18 found all is well, added new camera ip on	
59	17-Jan-18	REX II; JAMES D	CIMS - BOSTON	intermapper Blue Hill and Warren	Technician Programmer
					<u> </u>
				I got the parts. Installed a new 12 volt transformer for power	
				and 2 new antennas. The modem is now working and the	
60	17-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	camera is back up and view able on the system.	Technician Programmer
					-
61		REX II; JAMES D	CIMS - BOSTON	Found camera bagged and modem removed???	Technician Programmer
62	17-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	Erie and Ellington back up server and recording video	Technician Programmer
				Onsite found ptz unreachable, verify power ok	
				replace ptz ip .107	
63	17-Jan-18	REX II; JAMES D	CIMS - BOSTON	Roland on system Boston Ritz Roof	Technician Programmer
				-onsite Longfellow found radio to Lafarge factory defaulted	
				- reconfigure uprev firmware on remote side	
64	17-Jan-18	REX II; JAMES D	CIMS - BOSTON	-verify up on system	Technician Programmer
				onsite found AP 3 unreachable, power cycle restored radio	
65	17-Jan-18	REX II; JAMES D	CIMS - EVERETT	uprev firmware on local/remote Whidden Hospital	Technician Programmer

	F	G	Н	ı	J
				·	
48	1	ОТ	\$125.00	\$125.00	
49	2	ОТ	\$125.00	\$250.00	
43		0.	V120100	4200.00	
50	2	REG	\$109.00	\$218.00	
_,	2	REG	\$109.00	\$218.00	
51	2	KLG	\$107.00	\$210.00	
52	2	REG	\$109.00	\$218.00	
53	2	REG	\$109.00	\$218.00	
54	5	REG	\$109.00	\$545.00	
		5			
55	1 27	REG	\$109.00	\$109.00	
56	2/	REG	\$102.00	\$2,754.00	
57	30	REG	\$102.00	\$3,060.00	
58	29	REG	\$102.00	\$2,958.00	
30		.,	,	Ψ2,000.00	
59	1	REG	\$109.00	\$109.00	
	_				
60	3	REG	\$109.00	\$327.00	
	_	DEC	¢100.00	¢100.00	
61 62	4	REG REG	\$109.00 \$109.00	\$109.00 \$436.00	
02	- r	NEO	Ψ107.00	ψ 100.00	
63	2	REG	\$109.00	\$218.00	
64	2	REG	\$109.00	\$218.00	
	_				
65	2	REG	\$109.00	\$218.00	

	Α	В	С	D	Е
				onsite found water intrusion in can - shorted out switch 8port	
				gig gs108 netgear	
				replaced switch with whatever I could find for working	
				switches(5 port 10/100)	
				mounted on back board so this might not happen again	
66	17-Jan-18	REX II; JAMES D	CIMS - QUINCY	verified up on Quincy server Sea Street	Technician Programmer
				Lan port on Modem Bad no activity, Camera good at this site -	
				Hammon Park Tried factory defaulting modem, and different	
				power supply did not work.	
67	18-Jan-18	WASHBURN; GREGORY R	CIMS - REVERE	-Need to find a new modem to replace this.	Technician Programmer
				Rebooted Camera and Modem. Both cam up and re-landed on	
68	18-Jan-18	WASHBURN; GREGORY R	CIMS - REVERE	server Luis Pasteur	Technician Programmer
				Firmware & Software was updated on modem, updated	
				passwords. put Lantel1400! on camera password. Relanded	
69	18-Jan-18	WASHBURN; GREGORY R	CIMS - REVERE	on server Liberty Street	
				Firmoviero C Cofficiero vice undebadana mandatad	
				Firmware & Software was updated on modem, updated	
	40 1 40	WASHBURN CRECORY B	CINAC DEVEDE	passwords. put Lantel1400! on camera password. Relanded	Tarkaida Barrana
70	18-Jan-18	WASHBURN; GREGORY R	CIMS - REVERE	on server Liberty Street	Technician Programmer
				Met Jeff from PD onsiteat Parlin Jr High. I thought this was a	
				roof PTZ which it was not. PTZ is on street pole. This camera	
71	10 lan 10	 WASHBURN; GREGORY R	CIMS - EVERETT	was back online and recording before anything was touched.	Technician Programmer
/1	10-7411-10	WASHBORN, GREGORT R	CIIVIS - EVERETT	was back offilite and recording before anything was touched.	recillician Frogrammei
				Had some issues finding this camera. But Central Fire3 cam is	
				on street next to business of Tanks a lot. Camera had moisture	
				in it, But had power. Camera did not have any Lan Connection.	
70	19-lan-19	 Washburn; Gregory R	CIMS - EVERETT	also tried injecting POE. but did not work Pulled cam which i	Technician Programmer
72	10-7411-10	WASHBORN, GREGORT R	CIIVIS - EVERETT	Camera has no access with our bucket. Jeff from PD has asked	Technician Frogramme
				to take down. This camera is to be taken down with bigger	
				bucket or lift. Camera has pelco case with Axis inside, Camera	
				is currently pointing to ground, cam has ping and GUI access	
70	18-Jan-18	 Washburn; Gregory R	CIMS - EVERETT	but has black video.	
73	10 Jan-10	THE STRUCKS OF THE ST	CIT-13 EVENETT	Sat has black video.	
				Camera has no access with our bucket. Jeff from PD has asked	
				to take down. This camera is to be taken down with bigger	
				bucket or lift. Camera has pelco case with Axis inside, Camera	
				is currently pointing to ground, cam has ping and GUI access	
74	18-Jan-18	WASHBURN; GREGORY R	CIMS - EVERETT	but has black video. Parlin Library	Technician Programmer
'	10 70 10				
				trouble shoot and change/reconfig/test modem for Harmon	
75	20-Jan-18	REX II; JAMES D	CIMS - REVERE	Park revere, give to Sean for install later today	Technician Programmer
				This camera wasn't displaying video. The Axis power brick	
				needed to be reset. After doing so the camera was back up and	
				video is view able on the system. Hancock and Squantum	
76	20-Jan-18	PAPPAS; SEAN M	CIMS - QUINCY	Streets	Technician Programmer

	F	G	Н	ı	J
66	2	ОТ	\$125.00	\$250.00	
67	2	REG	\$109.00	\$218.00	
	1	DEC	¢100.00	¢100.00	
68	1	REG	\$109.00	\$109.00	
				_	
69	2	REG	\$109.00	\$218.00	
70	2	REG	\$109.00	\$218.00	
71	0.5	REG	\$109.00	\$54.50	
72	2	REG	\$109.00	\$218.00	
73	0.5	REG	\$109.00	\$54.50	
74	0.5	REG	\$109.00	\$54.50	
75	1	ОТ	\$125.00	\$125.00	
76	1	ОТ	\$125.00	\$125.00	

	Α	В	С	D	Е
				The cable was disconnected from the switch causing the radio	
				link to be lost at this site. After plugging back in and resetting	
				the switch the link came back. The cameras were then	
				rediscovered on the network and are now view able on the	
77	20-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	system. Blue Hill and Warren in Dorchester	Technician Programmer
				-Onsite found no video/factory default up rev no video/	
	00 1 40	DEV II JANAEC D	CINAC DOCTON	replace with cims a/rstart RMA process B2 Lawrence/	Tarkaisian Barananan
78	20-Jan-18	REX II; JAMES D	CIMS - BOSTON	Mascoma	Technician Programmer
				-onsite found no video/factory default up rev firmware	
				-replace ptz with cims a/r	
79	20-lan-18	REX II; JAMES D	CIMS - BROOKLINE	-start rma paperwork Beacon, Dean,Chestnut	Technician Programmer
19	20 Jan-10	INCA II, JAINES D	CIT-13 BROOKEINE	Start Tina paperwork Beacon, Bean, chestilut	recinician riogrammer
				The camera wasn't displaying video. I went to the site and	
				reset the switch. The camera was back up and view able on the	
80	20-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	system. Villa Victoria	Technician Programmer
30					
				It wasn't showing video. I had to power cycle the camera and	
				the switch. Got the thermal back up and on the system. Gulf	
81	20-Jan-18	PAPPAS; SEAN M	CIMS - CHELSEA	Oil	Technician Programmer
				The camera at Oak Island Park was changed out and the	
				firmware was upgraded to the newest version. The camera is	
				back up on the system.	
				Harmon Park had a bad modem. It was changed out to a new	
82	20-lan-18	PAPPAS; SEAN M	CIMS - REVERE	modem. The camera is back up on the system.	Technician Programmer
02	20 3411 10	741743, 32744141	CHAIS KEVEKE	modern. The current is back up on the system.	recrimetari i rogi arrimer
				The 24 volt power connector and the data connection, had to	
				be reset at the camera on top of the street signal yard arm.	
				The camera then came back up and is view able on the system.	
83	20-Jan-18	PAPPAS; SEAN M	CIMS - WINTHROP	CrestAve	Technician Programmer
				St. James/Clare Installed Dvtel pe133 10.0.82.52	
84		REX II; JAMES D	CIMS - BOSTON	admin/Lantel1400!	Technician Programmer
85		WASHBURN; GREGORY R	CIMS - BOSTON	Upreved firmware of 6 ubnt around this area also.	Technician Programmer
86	22-Jan-18	REX II; JAMES D	CIMS - BOSTON	-verify/process RMA-case 79967- rma-42098176	Technician Programmer
				There was no power at this site. The power was disconnected	
				when BTD was working on the signal pole. I reconnected the	
				power and got the PTZ and 2 Radios back up on the system. Another fixed camera was also added to this site and landed	
_	22-lan-10	 PAPPAS: SEAN M	CIMS - BROOKLINE	on the Brookline server. Beacon, Dean and Chestnut	Technician Programmer
87	∠∠-Ja∏-10	FAFFAS, SEAN IVI	CIMIS - DROUNLINE	verify/process RMA-case 79968 rma-42098170 Beacon, Dean	recillician Frogrammer
88	22-lan-18	REX II; JAMES D	CIMS - BROOKLINE	and Chestnut	Technician Programmer
00	22 Jan 10	NEX II, MATES D	CITIO BROOKEINE	camera went back down had to go back re terminated the	recinician i rogrammei
				24volt power supply to the camera and the cat5 data	
89	22-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	connection. Camera came back up . Villa Victoria	Technician Programmer
		<u> </u>		onsite power cycle radio/verify up on system Center and	- 3
90	22-Jan-18	REX II; JAMES D	CIMS - BOSTON	Columbus	Technician Programmer
_ 55		'		ı	

	F	G	Н	I	J
	-			-	
77	2	OT	\$125.00	\$250.00	
78	2	OT	\$125.00	\$250.00	
79	2	OT	\$125.00	\$250.00	
		0.7	*405.00		
80	1	ОТ	\$125.00	\$125.00	
_	2	ОТ	¢105.00	#250.00	
81	2	ОТ	\$125.00	\$250.00	
82	3	ОТ	\$125.00	\$375.00	
02	-	0.1	Ψ123.00	φο, σ.σσ	
83	2	ОТ	\$125.00	\$250.00	
			,		
84	6	REG	\$109.00	\$654.00	
85	5	REG	\$109.00	\$545.00	
86	1	REG	\$109.00	\$109.00	
87	2.5	REG	\$109.00	\$272.50	
88	1	REG	\$109.00	\$109.00	
		DE-5	*400.00		
89	1.5	REG	\$109.00	\$163.50	
		DEC	¢100.00	¢240.00	
90	2	REG	\$109.00	\$218.00	

	Α	В	С	D	E
				Reboot of Ubnt, AP has RSL of -63, rediscovered cam in	
91	22-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	server. Center and Columbus	Technician Programmer
				ansita faund avia ntz unningable, nauvar avala /auvan inigatora	
				-onsite found axis ptz unpingable ,power cycle/swap injectors-	
				-Ethernet cable up tower tested ok	
	00 1 40	DEV.II. IANAEC D	CINAC MAINITHINGS	-remove ptz from tower test down below with 4ft jumper, still	Tarketsian Burananan
92	22-Jan-18	REX II; JAMES D	CIMS - WINTHROP	bad- need to RMA cam	Technician Programmer
				On tower cable tested Cat5 - Pass.	
				Tried to contact support, phone issues will need to call back	
				Wednesday according to phone message. Will need RMA for	
				this cam.	
				Cam Info	
				Q6155-e	
93	22-Jan-18	WASHBURN; GREGORY R	CIMS - WINTHROP	ACCC8E68C4B4 Water Tower	Technician Programmer
				Camera was dead. Needed to be replaced being sent out for	
94	22-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	RMA . Umana in East Boston	Technician Programmer
				Camera was dead. Needed to be replaced being sent out for	
95	22-Jan-18	PAPPAS; SEAN M	CIMS - BOSTON	RMA . Umana in East Boston	Technician Programmer
				Trouble shoot 12volt, dry out junction box and reseal with	
96	23-Jan-18		CIMS Quincy	silicone, reenergize circuit 95 West Squantum	
97		REX II; JAMES D	CIMS - EVERETT	-onsite at Excellon for 2018 safety training -good for 1 year	Technician Programmer
98		SAVAGE;MARK	CIMS - EVERETT	-onsite at Excellon for 2018 safety training -good for 1 year	Technician Programmer
99		WASHBURN; GREGORY R	CIMS - EVERETT	-onsite at Excellon for 2018 safety training -good for 1 year	Technician Programmer
100	23-Jan-18	NISBET; ERIC W.	CIMS - BOSTON	NVR Software update	Software Technician
				Went to the site could only see the fixed camera locally. No	
				video on the PTZ. The radio wasn't connected to the system.	
				No link light on the switch. Power cycled the radio and	
101		PAPPAS; SEAN M	CIMS - CHELSEA	changed switch ports. Could then see the network.	Technician Programmer
102	24-Jan-18	NISBET; ERIC W.	CIMS - BOSTON	The PTZ wasn't showing video all black screen. The rj45 connect	Software Technician
				Mother Caroline Acadeym trouble shoot 120v, inspect all	
103	25-Jan-18	SONET	Dorchester	cameras, trace circuit	
				-onsite found gfci tripped inside hvac unit tripped. Reset	
104	25-Jan-18	REX II; JAMES D	CIMS - BOSTON	breaker, verify up on server	Technician Programmer
				onsite found gfci tripped inside hvac unit tripped. Reset	
				breaker, verify up on server, rediscovered cam and landed on	
105		WASHBURN; GREGORY R	CIMS - BOSTON	server. Dearborn and Eustice	Technician Programmer
106		NISBET; ERIC W.	CIMS - CHELSEA	Chelsea Police Dept. upgrade Briefcam client software	Software Technician
107	25-Jan-18	NISBET; ERIC W.	CIMS - CHELSEA	Chelsea Police Dept. upgrade Briefcam client software	Software Technician
				The camera was going up and down. I plugged the camera into	
				my laptop to confirm camera was working properly. I reset the	
				connectors to ensure proper connection to the PTZ . Video is	
108	25-Jan-18	PAPPAS; SEAN M	CIMS - QUINCY	up and recording on the server Quincy City Hall	Technician Programmer
				This PTZ has had several resets and no video trbls. I had	
				Andrew with me today and did some training. Put in an	
				advanced RMA PTZ in its place and will bench test this cam.	
				Firmware and software were up to date also.	
109	27-Jan-18	WASHBURN; GREGORY R	CIMS - BOSTON	Replaced Cam and put same IP on. Villa Vctoria	Technician Programmer

	F	G	Н	I	J
		25.0	+400.00	+040.00	
91	2	REG	\$109.00	\$218.00	
92	2	REG	\$109.00	\$218.00	
93	3	REG	\$109.00	\$327.00	
	_	0.7	¢125.00	#125.00	
94	1	ОТ	\$125.00	\$125.00	
95	1.5	REG	\$109.00	\$163.50	
33	2.0		4107100		
96	28	REG	\$102.00	\$2,856.00	
97	2	REG	\$109.00	\$218.00	
98	2	REG	\$109.00	\$218.00	
99	2 8	REG REG	\$109.00 \$125.00	\$218.00 \$1,000.00	
100	0	REG	\$123.00	\$1,000.00	
101	2	OT	\$125.00	\$250.00	
102	1	ОТ	\$145.00	\$145.00	
400	21.5	REG	\$102.00	\$2.102.00	
103	21.5	KLG	\$102.00	\$2,193.00	
104	2	REG	\$109.00	\$218.00	
105	1	REG	\$109.00	\$109.00	
106	2 2	REG OT	\$125.00 \$145.00	\$250.00 \$290.00	
107	2	01	\$145.00	\$270.00	
108	2	ОТ	\$125.00	\$250.00	
109	2	ОТ	\$125.00	\$250.00	

	Α	В	C	D	E
	,,	נ	Ŭ	Found Nema had small bit of water inside. Reboot of modem	_
				came back up on server. Put screws on of face of nema, to	
				make tighter seal.	
				If unit goes down again Modem power supply should be	
				changed.	
1440	27-Jan-19	WASHBURN; GREGORY R	CIMS - REVERE	Relanded camera on server Video is good. Liberty Street	Technician Programmer
110	27-Jan-10	WASHBURN, GREGORT K	CIIVIS - REVERE	Morning at office found this link down. Found PTP in Radar	recillician Programmer
				CAC mode, I put Motorola radio in install mode and rebuilt	
				config for this. Link is back up and reattached camera to	
1	07 Ion 10	MACHELINI, CRECORY R	CIMS - BROOKLINE	l = :	Tashnisian Dragrammar
111		WASHBURN; GREGORY R		Server. Aspinwall	Technician Programmer
112	28-Jan-18	NISBET; ERIC W.	CIMS - BOSTON	Boston PD Software Upgrade	Software Technician
				Onsite at penthouse saw that Electricians were doing work.	
				Confirmed and they Got power back up for us. All equipment	
				back up but Parlin Jr. Link did not return. Reboot at housing	
				did not work. Upgraded firmware on this link both end and	
113	29-Jan-18	WASHBURN; GREGORY R	CIMS - EVERETT	rediscovered all cameras	Technician Programmer
				This was a Fixed Dytel cam prior off a goose neck and was fed	
				pwr 24vac. Eric had giving me a Bosch to put in place but does	
				not take 24vac, also does not fit on dvtel goose neck. found in	
				bucket small nema box. custom fab it and Lagged it to wooden	
114	29-Jan-18	WASHBURN; GREGORY R	CIMS - EVERETT	pol everett FD	Technician Programmer
				Jeff had asked me to take a look at this at end of day.	
				Camera was pingable but No GUI. Rebooted cam same, put	
				new RJ45's on same, Opened cam up and Factory defaulted	
				rebuilt config. everything back up and rediscovered on server.	
115	29-Jan-18	WASHBURN; GREGORY R	CIMS - EVERETT	Everett SQ3	Technician Programmer
				The camera was down at Central Fire on Broadway. After	
				trouble shooting the camera on the street, it was determined	
				that it was the radio on the roof of central fire. I went up there	
				and power cycled the injector for the radio and got it back on	
				the system. The camera is back up and view able on the	
116	30-Jan-18	PAPPAS; SEAN M	CIMS - REVERE	system.	Technician Programmer
10		,		onsite found no power at pole, burning smell from BTD box at	0
				base	
				went back to site to verify 100%power was pulled from that	
				pole, noticed cones at the next corner where a car might of hit	
				the pole (feed going up pole) and shorted circuit.	
				Quincy/Drayton	
1117	31-lan-19	REX II; JAMES D	CIMS - BOSTON	notified BPD	Technician Programmer
117 118		NISBET; ERIC W.	CIMS - BOSTON	Boston PD Software Upgrade	Software Technician
118	02-1-CD-10	INICULI, LINIC VV.	CIND DOTON	Total	Jorewale recililician
120				Total	
121					
122					
124					
125					
121 122 123 124 125 126 127 128 129					
127					
128					
129					
130					l

	F	G	Н		J
110	2	OT	\$125.00	\$250.00	
111	2	OT	\$125.00	\$250.00	
112	2	DT	\$180.00	\$360.00	
113	4	REG	\$109.00	\$436.00	
114	4	REG	\$109.00	\$436.00	
115	2	OT	\$125.00	\$250.00	
116	1	OT	\$125.00	\$125.00	
117	1.5	REG	\$109.00	\$163.50	
118	2	ОТ	\$145.00	\$290.00	
119	443		\$13,456.00	\$48,945.50	<u> </u>
120					
121 122					
122					
123					
125					
126					
127					
128					
129					
130					

	A	В	С	D
1		LAN-TEL Communications, Inc.		
2		Billing for CIMS Project - Material Costs		
3		Jan-18		
4	Date of Service/Purchase	Location	Material Provided	Material Cost
5				
6		Nothing to Report		
7				
8				
9				
10				
11				
12			Total Material Costs	\$0.00

	Α	В	С	D	Е	F
1			LAN-TEL Communications, Inc.			
2			Billing for CIMS Project - Project Management Costs			
3			Jan-18			
4	Date of Service	Location	Work Performed	# Hours	Rate	Total
5	1/3/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	1	\$98.00	\$98.00
6	1/9/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	2	\$98.00	\$196.00
7	1/12/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	1	\$98.00	\$98.00
8	1/16/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	2	\$98.00	\$196.00
9	1/18/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	1	\$98.00	\$98.00
10	1/22/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	2	\$98.00	\$196.00
11	1/25/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	1	\$98.00	\$98.00
12			Total	10		\$980.00

	G
1	
2	
3	
4	Special Event, PSNET or CIMS
5	
6	
7	
8	
9	
10	
11	
12	

	A	В	С	D	
1	Jai	nuary Lab	or Totals		
2	Labor Type	Hours	Total		
3	LAN-TEL Labor regular rate	188	\$20,492.00		
4	LAN-TEL Labor overtime rate	66.5	\$8,312.50		
5	LAN-TEL Software Tech rate	18	\$2,250.00		
6	LAN-TEL Software Tech overtime rate	8	\$1,160.00		
7	LAN-TEL Software Tech double time rate	2	\$360.00		
8	Sonet	160.5	\$16,371.00		
9	Total Labor	443	\$48,945.50		
10					
11	Total Project Management Labor	10	\$980.00		
12	Total Labor & PM			\$49,925.50	
13	January Material Totals				
14	Total PTZ DvTel Cameras	0	\$0.00		
15	Total Fixed DvTel Cameras	0	\$0.00		
16	Total Power Supplies	0	\$0.00		
17	Total Bucket Truck Rentals (LAN-TEL & Sonet)	0	\$0.00		
18	Total Adapters	0	\$0.00		
19	Total Encoders	0	\$0.00		
20	Total NEMA Enclosures	0	\$0.00		
21	Total Astro Brackets	0	\$0.00		
22	Total Antennas & Assoc. Equipment	0	\$0.00		
23	Total Cable & Assoc. Hardware	-	\$0.00		
24	Total POEs	0	\$0.00		
25	Total Misc. Equipment	-	\$0.00		
26	Total Material Used \$0.00			\$0.00	
27					
28	Total Billing for January 2018 \$49,925.50				